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Problem

Exercise
You are interested in the average height of 6-year olds. In a class of 16
children you measure the following heights in centimeters:

109,114,115,118,119,120,121,121,
121,122,124,124,127,128,128,131

Suppose you know that the standard deviation is σ = 4. Calculate a
95% confidence interval for the mean height.
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Step 1: Sample Mean
The point estimator

109,114,115,118,
119,120,121,121,
121,122,124,124,
127,128,128,131
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The formula

X̄ − zα/2 · σ/
√

n ≤ µ ≤ X̄ + zα/2 · σ/
√

n
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Step 2: Using a probability table
From Frisvold and Moe
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Completing the Solution

X̄ − zα/2 · σ/
√

n ≤ µ ≤ X̄ + zα/2 · σ/
√

n

x̄ =

z = 1.96
n = 16,

√
n = 4

σ/
√

n = 1
z0.0.25 · σ/

√
n = 1.96
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